EARAROBEEIERT — 2 N— IBISH —F

20185115230 (&) 18EIEMH2H

m C2— ¥5%3®t (xwlw | lmEmml - |5 5) wom 8
[AE4£] 1% :350,000 " ~ 23%&:98,000H" 33 :49,000 437 :35000 M .~ 57&:28,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s = - e :30. -3-4- . — IRAFN (FEiH)
r I(YLF—Z5¢ 4 3 54_0% 1(3_0)4 4-3-4-3 | 38.3 1 (ﬁg) T :
LA TATv— BI-Y2)a—2X FERS
NS > 3 | NRE— :30.4 2-2-2-1 |38.4| — 3 | 494 |tAEREER (FEHH)
EvIF - “ 7 86.0 (NF) (o) |EEM—
:0-KH+a7 B:XvX5—K7T—4 HET7—L
— < TERE . —8—1— - FFHS (EE
YrSTILTFIR s 54.0 1(73?:;5 812 ) 8.1 2 <4—817) BEA
RT—Tr—Z B:Yr/TO-F P E N
2 S 2w 4t 3 | KEAER 1:32.1 1-1-3-4 [40.2| — 5 458 | EiEAE (ER)
ATy b 54.0 (10) ) | AERETF
LTI ELR BiHALYONY b LI=RECEIN
EEAE 1:32.2 7-6-8-5 [39.8| — | 8 | 443 |EEA (HEH)
TAT7——b * 6 54.0
. 3/4 8%
QA LSAN= b BT TRND @ @9 | i Eaiss
6lzl71p755F2—2 #3 | UEEX 1:82.2 9-9-7-7 |39.4| — | 6 | 467 ﬁgiﬁ“ (EH)
. NZF F
LN—=YT774 B:aqviNLs ") (#5) FHBE%E
71810 KaL 552 it 6 Sl‘fig?gﬁr‘t 1:32.6 5-4-6-6 | 40.3| — 4 408 Eg;i (Em®)
- 21/2 - A=A
L2147 hALE b BRELTY ( ) =3) ;J\%#ﬁ(%
glsls| Y1 TIbL—2 5 | JORT 1:33.4 3558 |41.2| — | 9 | 460 T%ﬁ% (EE)
a 5 L INGEE
R:TRIA Y L= BHAATANT—F © 9 |7 > —n
olglg| vonhing 45 é%ﬂg%u% 1:33.4 6-7-9-9 | 40.6 | — 7 491 %g;‘éf (?re“ .
. - S— Sav
QUL RUSYRTA BiARATUT 75%) ST
==t £0Y _ _ — — = — =
w7l LT7>T "3 5$8§.,$ (BGH) (=) iggz—; -
RiANT =G B:IERR/— (B) #HAEaA-FKL—Ya>AE77
® 1—F—@EBIERL
1T=7r= 3,4,5,1,10,9,6,2,7
20—F— 3,4,1,10,5,6,9,2,7
§a=7r= 2,4,3,1,5,10,7,6,9
43—+ — 4,2,1,3,6,10,7,5,9
[ N5
BB 1 270M | | 74 K 1-4 260/ | | # E 1-4 750M | | 3EE 1-2-4 490/
B B 1 110M 1-2 190 B & 1-4 620/ JEE 1-4-2 2,870
4 120M 2-4 240M B E 1-4 1,220H
2 1209

ABICOVWTRDTEEERROODE. TR LIV,




